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数列 {an}に対して
n∑

k=1

2 · (k + 2)! · ak
3k · (k − 1)!

=
(
n− 1

2

)2

が成り立つとき

Sn =
n∑

k=1

akを求めてください。
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解説・解答

n = 1のとき
2 · 3! · a1
3 · 0!

=
(
1− 1

2

)2

より a1 =
1

16
なので S1 =

1∑
k=1

ak = a1 =
1

16
です。

n ≧ 2のとき
n∑

k=1

2 · (k + 2)! · ak
3k · (k − 1)!

−
n−1∑
k=1

2 · (k + 2)! · ak
3k · (k − 1)!

=
(
n− 1

2

)2

−
(
n− 1− 1

2

)2

より
2 · (n+ 2)! · an
3n · (n− 1)!

= 2n− 2なので

an =
3n(n− 1)

n(n+ 1)(n+ 2)
=

3n{3n− (n+ 2)}
2n(n+ 1)(n+ 2)

=
3n+1

2(n+ 1)(n+ 2)
− 3n

2n(n+ 1)
です。

Sn =
n∑

k=1

ak

= a1 +
n∑

k=2

(
3k+1

2(k + 1)(k + 2)
− 3k

2k(k + 1)

)
=

1

16
+

(
3n+1

2(n+ 1)(n+ 2)
− 32

2 · 2 · 3

)
=

3n+1

2(n+ 1)(n+ 2)
− 11

16
(この式は n = 1でも成り立っています)
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